Answer Sheet – Level 2 Data representation and manipulation (7540-003) Assignment A

A1: Briefly describe the difference between real numbers and integers.
	


A2: Express the following numbers given in power notation:

· 25 as a square number

· 64 as a cube number

· 81 as a number raised to a power of four

	


A3: Express the numbers given below in scientific notation:

· 0.003256

· 1110

· 2200000
	


A4: For the three values given in rows A and B below, calculate for each A × B and A ÷ B giving the answers in power notation:
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A5: For the two values given in rows C and D below, calculate for each C + D, C × D and C ÷ D:


[image: image2.wmf]C

1 x 10

3

3.2 x 10

6

D

1.2 x 10

3

7.2 x 10

6


	


A6: Round the values shown below, then add the numbers together. Estimate the resulting error in the answer due to rounding. Show your working for estimating the error:
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A7: Briefly describe how real numbers and integers are represented in computer memory.

	


B1: Briefly explain the term ‘two dimensional co-ordinate system’.

	


B2: Draw the shape represented by the co-ordinate vertices given below:
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B3: Briefly describe what is meant by the term ‘vector’.

	


B4: Produce the polar representation of vector v below:
    Vector v
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B5: The coordinate shape given below needs to be scaled and shifted as shown below. Write down the scaling and shift factors needed to produce the result.
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B6: Convert the linear co-ordinates shown in rows E and F below into polar co-ordinates.
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B7: Briefly describe the co-ordinate systems used in programming output devices.

	


C1: Express the situation described below in terms of a simple equation:

At my home there is a quantity, c, of computer games on the living room shelf and four computer games on each of my two bedroom shelves. My friend has twice as many computer games as I have. Write down a simple equation, using appropriate algebraic terms, explaining how many games my friend has compared to my collection.

	


C2: Rearrange and simplify the equation shown below to make K the subject:

2L + 4K = 2T

	


C3: From the graph below, obtain the equation of the straight line:
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C4: Briefly describe the basic properties of a circle and a triangle.

	


C5: Complete the grid below by finding the trigonometric values for the angles given.

	Angle
	45
	30

	Sine
	
	

	Cosine
	
	

	Tangent
	
	


C6: Complete the grid below by finding the angles for the inverse trigonometric values given.

	Value
	1
	0.707

	Sine-1
	
	

	Cos-1
	
	

	Tan-1
	
	


D1: Briefly describe how binary states are used to represent physical systems.

	


D2: Identify and label inputs and outputs for the binary representation shown below:
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D3: Produce a Truth table for the binary OR representation.

	Inputs
Output

A
B

Q




D4: Express the Truth table given below as a Boolean equation:
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D5: Simplify the following Boolean equation:

F = A.(A+B)

	


This form can be handwritten or completed electronically. 
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